

REQUEST FOR QUOTATION	<h1>TROY SCHOOL DISTRICT</h1> <p>1140 RANKIN, TROY, MICHIGAN 48083</p> <p>248-823-4052</p> <p>FAX: 248-823-4077</p>	
No. 9665		
DUE DATE NO LATER THAN 4-1-10 3 p.m.		DATE 3-18-10

REQUEST FOR QUOTE – NOT AN ORDER

THIS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST
BID ENVELOPE ENCLOSED

THE RFQ NUMBER MUST APPEAR ON ALL QUOTATIONS AND RELATED CORRESPONDENCE, THIS IS NOT AN ORDER

Quantity	DESCRIPTION	UNIT PRICE	AMOUNT
	<p>Please supply us with your bid to furnish the Troy School District with 2010/11 FALL ATHLETIC EQUIPMENT</p> <p style="text-align: center;">Copies of the bid are available at:</p> <p style="text-align: center;">www.troy.k12.mi.us/purchasing/items_out_for_bid.htm (left column)</p> <p style="text-align: center;">Bid recaps will be available at:</p> <p style="text-align: center;">www.troy.k12.mi.us/purchasing/items_out_for_bid.htm (right column)</p> <p><i>FACSIMILE BID <u>IS</u> ACCEPTABLE</i></p> <p>Bids will not be accepted if submitted after the deadline specified (local time) in the advertisement to bid or in the information to bidders. The late submission of a bid makes the bid nonrepsonsive and is a material defect which shall not be waived by the Board of Education. Delays in the mail will not be considered. All Late bids in the mail will be returned to the bidder unopened.</p> <p>Proposal for the submission of alternatives by vendors will be accepted and reviewed. However, if any substitution or departure is not clearly noted and described, it will be understood that the bid intends to exactly meet the specifications.</p> <p>The Board of Education shall be the sole judge as to whether the proposed goods are "equal" or "approved". Quotations must be received in the Purchasing Office, 1140 Rankin, Troy, MI 48083 no later than 3 p.m. on the date shown above. Michigan State Sales and Use Taxes and Federal Excise Taxes do not apply unless otherwise indicated. Exemption certificates will be furnished when necessary. This request imposes no obligations on the buyer. The Board of Education reserves the right to accept or reject any or all bids or to split awards by items or to accept bids, which will best serve the Board of Education.</p>		

THIS AREA MUST BE FILLED IN

DELIVERY TIME	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.
TERMS		NO. & STREET	FAX #
FOB DELIVERED	ALL DELIVERY CHARGES MUST BE INCLUDED IN PRICES SHOWN	CITY, STATE & ZIP CODE	E-MAIL
CONTACT PERSON (PLEASE PRINT)		SIGNATURE	DATE

Note: All bidders are specifically reminded that a completed Affidavit of Bidder (Familial Disclosure) MUST be completed and submitted with the bid response. Failure to include a completed copy will be grounds for disqualification of bid. The Affidavit of Bidder is required to be notarized for construction bids only. All others only require completion and signature.

AFFIDAVIT OF BIDDER

The undersigned, the owner or authorized officer of _____ (the "Bidder), pursuant to the familial disclosure requirement provided in the _____ (the "School District") advertisement for construction bids, hereby represent and warrant except as provided below, that no familial relationships exist between the over(s) or any employee of _____ and any member of the Board of Education of the School District or the Superintendent of the School District.

List any Familial Relationships:

BIDDER:

By: _____

Its: _____

STATE OF MICHIGAN)
)ss.
COUNTY OF _____)

This instrument was acknowledged before me on the _____ day of _____, 2010, by _____.

,Notary Public

_____County, Michigan

My Commission Expires: _____

Acting in the County of: _____

**TROY SCHOOL DISTRICT
2010/2011 FALL ATHLETIC EQUIPMENT
BID 9665**

QTY	REFERENCE	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
		<u>Athens High School Football</u>			
24	Riddell	Riddell Speed Football Helmets. 6-Medium; 6-Large; 6-XLarge; 6-XX Large			
12	Riddell	CLS10i Riddell Shoulder Pads. 4-Large; 6-XLarge; 2-XX Large.			
18	Riddell	CLS80i Riddell Shoulder Pads. 6-XLarge; 6-XX Large; 6-XXX Large			
		<u>Athens High School Boys Soccer</u>			
1 case		(12 rolls) Clear Mat Tape for nets/goals			
3		Cramer Soccer Scorebooks			
6		Brine #5 NCAA Red/White Championship Game Balls			
1		Dry Erase & Magnetic Coaches Game Planner. Size 18" x 24"			
4		Sand Bags. Heavy Nylon Canvas. Size: 22 1/2" x 17 3/4"			
60		Large Disc Cones (to be shared with football program)			
		<u>Athens High School Boys Water Polo</u>			
10	www.kap7waterpolo.com	KAP 7. Size 5. Men's Water Polo Balls, all yellow or yellow-blue			
2	www.truwest.com	TB3M Mesh Ball Bag. Size: 40"L x 18"W x 18"H			
4	www.kap7waterpolo.com	KAP 7 Weight Belts. 5 lb. Color: Red.			
8	www.metroswimshop.com	#752187, SP02181. Speedo Swimmers Backpack. Color: Red. Size: 16" x 8.5" x 18".			

QTY	REFERENCE	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
		<u>Troy High School Football</u>			
48		ST5PROSMI-B. Rawlings Leather Footballs			
15 doz.		Mouth Guards w/stems. Black.			
4 doz.		4 Pt. Riddell Revolution Chin Straps. Black			
16		Nylon Mesh Bags. Size XLarge. 4-Black. 4-Red. 4-Blue. 4-Green.			
1		27512 Revolution Accessory Kit			
75 pair		Colt Head Helmet Decals			
75		Red Tapered Helmet Stripes			
2		(Sheets) White Helmet Decal #'s 1-89			
2		(Sheets) Black Helmet Decals. Skull/Crossbones			
2		(Sheets) Brown or Black Football Decals			
36		AKPA. Rawlings Varsity Knee Pads.			
24		Black Adams Wrist Coaches			
18		ZBANG3. Rawlings 3 Piece Girdle. Sizes: 6-Medium; 6-Large; 6-XL			
18		ZBAND 4. Rawlings 4 Piece Shirt. Sizes: 6-Medium; 6-Large; 6-XL			
70		PJTEC477 Compression Rawlings Black Game Jersey. Color 1-Black (cowl). Color 2-Black (body). Color 3-Black (sleeve). Color 4-Black (side insert). Color 5-Scarlet (neck insert). Color 6-White (piping). 1" Lycra Cuff-Scarlet. 1.5" "TROY" – White on Scarlet – Full Block. Numbers Front and Back – White on Scarlet – Bold Block. Numbers on Shoulder (TV) White on Scarlet – Bold Block. 3 Color "COLT" on Sleeves (White, Platinum, Scarlet) Both to Face Forward			
84		Helmet Beanies. 36-Red; 24-Blue; 24-Green			

QTY	REFERENCE	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
		<u>Troy High School Cross Country</u>			
5	www.wolverinesports.com	TR002P. ¼" Pyramid Spikes – 100 count			
5	www.wolverinesports.com	TR236P. 1/8" Pyramid Spikes – 100 count			
5	www.wolverinesports.com	TR004P. 3/8" Pyramid Spikes – 100 count			
5	www.wolverinesports.com	TR003P. ½" Pyramid Spikes – 100 count			
5	www.wolverinesports.com	TR005P. 5/8" Pyramid Spikes – 100 count			
		<u>Troy High School Volleyball</u>			
12		Baden. Official Game Ball. Lexum Composite. Color: Black, White, Red.			
		<u>Baker Middle School Football</u>			
36		Helmet Covers. 12-Red. 12-Green. 12-Black.			
12		Belts. Size Large. Color: White			
		<u>Baker Middle School Boys Basketball</u>			
2		Big Red Scorebooks, 20 player			
6		TF-1000 Spalding 2k Pro Basketballs			

QTY	REFERENCE	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
		<u>Larson Middle School Football</u>			
48		Helmet Beanies. 24 –Blue. 24-Red.			
20		Shoulder Pads. 10-Medium. 10-Large			
60		Girdle Pads.			
30		Belts. Color: White			
		<u>SMITH MIDDLE SCHOOL FOOTBALL</u>			
12		Football Girdle with pads inserted. 6-XLarge. 6-XXL.			
6		Composite Leather Footballs. Middle School Size			
		<u>SMITH MIDDLE SCHOOL</u>			
1		Slipp Nott Traction Mat Sheets, 15" x 18"			

COMPANY: _____

ADDRESS: _____

CITY: _____ STATE: _____ ZIP: _____

PHONE: _____ FAX: _____

Troy School District
2010/11 FALL ATHLETIC EQUIPMENT
BID 9665

ADDENDUM #1

All submitted bids must be delivered to the Purchasing Office, 1140 Rankin, Troy, MI 48083 by US Mail, Federal Express, UPS or in person by 3:00 pm no later than Thursday, April 1, 2010.

FACSIMILE BIDS WILL NOT BE ACCEPTED.

Troy School District														
2010/11 Fall Athletic Equipment														
Bid 9665														
			S & S Worldwide			Bill Fritz Sports			Sator Sports Inc.			Pyramid School Products		
Qty	Unit	Description	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total
ATHENS FOOTBALL														
24	ea	Riddell Speed Helmets			-			-			-			-
12		Riddell CLS10i Shoulder Pads			-			-			-			-
18		Riddell CLS80i Riddell Shoulder Pads			-			-			-			-
					-			-			-			-
ATHENS BOYS SOCCER					-			-			-			-
1	case	Clear Mat Tape (12 rolls)			-			-			-	3"x84' Deviser MT384	47.76	47.76
3	ea	Cramer Soccer Scorebooks	Athletic Specialties W8548	3.99	11.97			-			-	Champion SCB1	2.69	8.07
6	ea	Brine #5 Championship Balls			-			-	Select Ball NCAA White/Blue	35.00	210.00	BC105	36.99	221.94
1	ea	Dry Erase/Magnetic Coaches Planner			-			-	Agora 18x12 SA-6530	19.95	19.95			-
4	ea	Sand Bags			-			-	Agora Goal Anchor Bag SA- GA720	10.45	41.80	Kwik Goal 10B1605	21.98	87.92
60	ea	Large Disc Cones			-			-	Agora 4"h 22"w	1.25	75.00	Champion LDC	1.34	80.40
					-			-			-			-
ATHENS BOYS WATER POLO					-			-			-			-
10		KAP 7 Water Polo Balls			-			-			-			-
2		Mesh Ball Bag			-			-			-			-
4		KAP 7 Weight Belts			-			-			-			-
8		Speedo Swimmers Backpack			-	752187	38.00	304.00			-			-
					-			-			-			-
TROY HIGH FOOTBALL					-			-			-			-
48	ea	Rawlings Leather Football	Spalding W7322	32.56	1,562.88			-			-			-

Troy School District														
2010/11 Fall Athletic Equipment														
Bid 9665														
Qty	Unit	Description	S & S Worldwide			Bill Fritz Sports			Sator Sports Inc.			Pyramid School Products		
			Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total
5		5/8" Pyramid Spikes, 100 ct.			-			-			-			-
					-			-			-			-
		TROY HIGH VOLLEYBALL			-			-			-			-
12		Baden Official Game Ball			-			-			-			-
					-			-			-			-
		BAKER FOOTBALL			-			-			-			-
36		Helmet Covers			-	HC	2.38	85.68			-		Champion HC no green or black sold/doz	2.29 82.44
12		Belts			-			-			-		Champion FFB3 1"x56"	0.89 10.68
					-			-			-			-
		BAKER BOYS BASKETBALL			-			-			-			-
2		Bid Red Scorebooks, 20 player		Athletic Specialties W4489	4.90		9.80	-			-			-
6		TF-1000 Spalding Basketballs		Spalding W5626001	34.97		209.82	-			-			-
					-			-			-			-
		LARSON FOOTBALL			-			-			-			-
48		Helmet Beanies			-	HC	2.38	114.24			-		Champion HC sold/doz	2.29 109.92
20		Shoulder Pads			-			-			-			-
60		Girdle Pads			-			-			-			-
30		Belts			-			-			-		Champion FFB3 1"x56"	0.89 26.70

Troy School District															
2010/11 Fall Athletic Equipment															
Bid 9665															
			S & S Worldwide			Bill Fritz Sports			Sator Sports Inc.			Pyramid School Products			
Qty	Unit	Description	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	
					-			-			-			-	
		SMITH FOOTBALL			-			-			-			-	
12		Football Girdle w/pads			-			-			-			-	
6		Composite Footballs	Spectrum W8390002	9.37	56.22			-			-	Champion CF200 Intermediate	10.39	62.34	
					-			-			-			-	
		SMITH MIDDLE SCHOOL			-			-			-			-	
1		Slipp Nott Traction Mat Sheets			-			-			-			-	

Troy School District															
2010/11 Fall Athletic Equipment															
Bid 9665															
		Riddell/All American				Anaconda Sports			Cannon Sports			Dimmer Warren			
Qty	Unit	Description	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt	Unit Cost	Total	
ATHENS FOOTBALL															
24	ea	Riddell Speed Helmets		12 @ \$213.13 12 @ \$228.13	5,295.12			-			-			-	
12		Riddell CLS10i Shoulder Pads	SPX	205.00	2,460.00			-			-	Schutt Armor Flex	147.50	1,770.00	
18		Riddell CLS80i Riddell Shoulder Pads	SPX	205.00	3,690.00			-			-	Schutt Armor Flex	147.50	2,655.00	
					-			-			-			-	
ATHENS BOYS SOCCER															
					-			-			-			-	
1	case	Clear Mat Tape (12 rolls)			-			-	CSI 3" 6572/12	42.84	42.84	3" Mat Tape	108.00	108.00	
3	ea	Cramer Soccer Scorebooks			-			-	Cramer 13127	9.52	28.56	Brine	5.95	17.85	
6	ea	Brine #5 Championship Balls			-		41.85	251.10	Brine 49115	37.03	222.18		38.40	230.40	
1	ea	Dry Erase/Magnetic Coaches Planner			-			-			-			-	
4	ea	Sand Bags			-			-			-			-	
60	ea	Large Disc Cones			-			-	CSI 8", 2" 21094-21095	0.43	25.80		1.30	78.00	
					-			-	Mikasa 6209	22.43	-			-	
ATHENS BOYS WATER POLO															
					-			-			-			-	
10		KAP 7 Water Polo Balls			-			-			-		26.95	269.50	
2		Mesh Ball Bag			-			-			-			-	
4		KAP 7 Weight Belts			-			-			-			-	
8		Speedo Swimmers Backpack			-			-			-			-	
					-			-			-			-	
TROY HIGH FOOTBALL															
					-			-			-			-	
48	ea	Rawlings Leather Football			-			-	Rawlings ST5PROSB	48.20	2,313.60		49.70	2,385.60	

Troy School District															
2010/11 Fall Athletic Equipment															
Bid 9665															
Qty	Unit	Description	Riddell/All American			Anaconda Sports			Cannon Sports			Dimmer Warren			
			Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	
15	doz	Mouth Guards w/stems	45791	3.84	57.60					FoxAD 20138/12	5.76	86.40		5.40	81.00
4	doz	Riddell Chin Straps	45748	37.20	148.80										
16		Nylon Mesh Bags	RMEB35	13.73	219.68									6.40	102.40
1		Revolution Accessory Kit		140.00	140.00										
75	pair	Colt Head Helmet Decals		3.44	258.00										
75		Red Helmet Stripes		0.49	36.75										
2	sheet	White Helmet Decals		15.00	30.00									14.50	29.00
2	sheet	Skull/Crossbones Helmet Decals		6.25	12.50									4.50	9.00
2	sheet	Brown/Black Football Decals		6.25	12.50									4.50	9.00
36		Rawlings Varsity Knee Pads	Riddell 48121	4.33	155.88									2.25	81.00
24		Black Adams Wrist Coaches	Riddell ASAPH	7.10	170.40		5.95	142.80					Martin Single FWC	4.20	100.80
18		ZBANG3 Rawlings 3 pc. Girdle			-									32.70	588.60
18		ZBAND4 Rawlings 4 pc. Shirt			-									41.20	741.60
70	ea	PJTEC477 Rawlings Black Jersey			-									69.40	4,858.00
84		Helmet Beanies	ASSCP	5.90	495.60									2.95	247.80
					-										-
		TROY HIGH CROSS COUNTRY			-										-
5		1/4" Pyramid Spikes, 100 ct.			-					CSI 5876	4.94	24.70		7.90	39.50
5		1/8" Pyramid Spikes, 100 ct.			-					CSI 5875	5.52	27.60		7.60	38.00
5		3/8" Pyramid Spikes, 100 ct.			-					CSI 5877	5.84	29.20		7.95	39.75
5		1/2" Pyramid Spikes, 100 ct.			-									8.20	41.00

Troy School District															
2010/11 Fall Athletic Equipment															
Bid 9665															
Qty	Unit	Description	Riddell/All American			Anaconda Sports			Cannon Sports			Dimmer Warren			
			Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	
5		5/8" Pyramid Spikes, 100 ct.			-			-			-		8.85	44.25	
					-			-			-			-	
		TROY HIGH VOLLEYBALL			-			-			-			-	
12		Baden Official Game Ball			-			-			-		45.40	544.80	
					-			-			-			-	
		BAKER FOOTBALL			-			-			-			-	
36		Helmet Covers	ASSCP	5.90	212.40		3.79	136.44			-		2.95	106.20	
12		Belts	WB52	0.92	11.04			-	CSI 20215 1"x56"	0.79	9.48		1.25	15.00	
					-			-			-			-	
		BAKER BOYS BASKETBALL			-			-			-			-	
2		Bid Red Scorebooks, 20 player			-			-			-		4.40	8.80	
6		TF-1000 Spalding Basketballs			-	Anaconda MG4000-PC- NF	23.89	143.34	Spalding 04172	34.48	206.88		36.85	221.10	
					-			-			-			-	
		LARSON FOOTBALL			-			-			-			-	
48		Helmet Beanies	ASSCP	5.90	283.20		2.45	117.60			-		2.95	141.60	
20		Shoulder Pads	Warrior III	49.25	985.00	Schutt	20.95	419.00			-	Rawlings CP36 Adult	47.70	954.00	
60		Girdle Pads	48136	5.11	306.60			-			-	Martin HIL3	5.85	351.00	
30		Belts	WB52	0.92	27.60			-	CSI 20215 1"x56"	0.79	23.70		1.00	30.00	

Troy School District																
2010/11 Fall Athletic Equipment																
Bid 9665																
Qty	Unit	Description	Riddell/All American			Anaconda Sports			Cannon Sports			Dimmer Warren				
			Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total		
					-			-			-				-	
		SMITH FOOTBALL			-			-			-				-	
12		Football Girdle w/pads	GWP	18.20	218.40		10.75	129.00			-	FG3P/HIL3	11.15	133.80		
6		Composite Footballs			-	Anaconda	6.95	41.70			-		19.25	115.50		
					-			-			-			-		
		SMITH MIDDLE SCHOOL			-			-			-			-		
1		Slipp Nott Traction Mat Sheets			-			-			-	60 sheet refill	26.50	26.50		

Troy School District																
2010/11 Fall Athletic Equipment																
Bid 9665																
		Service Sports					Signature Sports			ForsPorts			BSN Sports			
Qty	Unit	Description	Alt	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total		
ATHENS FOOTBALL																
24	ea	Riddell Speed Helmets			-										-	
12		Riddell CLS10i Shoulder Pads			-	Rawlings A3	186.95	2,243.40	Rawling Titan	89.95	1,079.40				-	
18		Riddell CLS80i Riddell Shoulder Pads			-	Rawlings A4	186.95	3,365.10	Rawling Titan	89.95	1,619.10				-	
					-			-			-				-	
ATHENS BOYS SOCCER																
					-			-			-				-	
1	case	Clear Mat Tape (12 rolls)	each	4.95	4.95			-			-				-	
3	ea	Cramer Soccer Scorebooks		9.95	29.85			-		8.00	24.00	Gamecraft MSSOCBOK 28 games/bk	2.83	8.49		
6	ea	Brine #5 Championship Balls		46.00	276.00			-	BC105N	57.00	342.00				-	
1	ea	Dry Erase/Magnetic Coaches Planner	LC1824-3	68.95	68.95			-			-				-	
4	ea	Sand Bags	Kwik Goal 10B1605	26.00	104.00			-			-				-	
60	ea	Large Disc Cones	Champion LDC orange or yellow	1.75	105.00			-		1.50	90.00	3"H x 7 3/4"D Multi-Color BS- 1255690/doz	3.96	19.80		
					-			-			-				-	
ATHENS BOYS WATER POLO																
					-			-			-				-	
10		KAP 7 Water Polo Balls	Tachikara WP- 5M Yellow	19.95	199.50			-			-				-	
2		Mesh Ball Bag			-			-			-				-	
4		KAP 7 Weight Belts			-			-			-				-	
8		Speedo Swimmers Backpack			-			-			-				-	
					-			-			-				-	
TROY HIGH FOOTBALL																
					-			-			-				-	
48	ea	Rawlings Leather Football		45.75	2,196.00		49.95	2,397.60		48.95	2,349.60				-	

Troy School District																
2010/11 Fall Athletic Equipment																
Bid 9665																
			Service Sports			Signature Sports			ForsPorts			BSN Sports				
Qty	Unit	Description	Alt	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total		
15	doz	Mouth Guards w/stems		4.20	63.00	price/doz.	7.08	106.20		0.34	5.10	MSMOUTBKPK 25/pk	6.5	52.00		
4	doz	Riddell Chin Straps			-			-	Adams Gel 50	8.00	32.00			-		
16		Nylon Mesh Bags	Martin APB45C 36"x45"	10.00	160.00			-		9.75	156.00	BS-SNBCNET w/drawstring 32"x36"	2.41	38.56		
1		Revolution Accessory Kit			-			-			-			-		
75	pair	Colt Head Helmet Decals	1 color	3.00	225.00			-			-			-		
75		Red Helmet Stripes	1 color	2.20	165.00			-			-			-		
2	sheet	White Helmet Decals	1 color, # 1-100	20.00	40.00			-			-			-		
2	sheet	Skull/Crossbones Helmet Decals	1 color, 25/sheet	3.75	7.50			-			-			-		
2	sheet	Brown/Black Football Decals	1 color, 25/sheet	3.75	7.50			-			-			-		
36		Rawlings Varsity Knee Pads	price/pair	5.75	207.00			-	XLKP	5.50	198.00			-		
24		Black Adams Wrist Coaches	Regular Size	6.00	144.00			-			-	Gameday Black BS-FBSWBBKX	2.39	57.36		
18		ZBANG3 Rawlings 3 pc. Girdle		37.75	679.50		29.95	539.10		32.00	576.00			-		
18		ZBAND4 Rawlings 4 pc. Shirt		49.65	893.70		39.95	719.10		41.00	738.00			-		
70	ea	PJTEC477 Rawlings Black Jersey		74.90	5,243.00		68.50	4,795.00	Before 4/15, After 4/15	70.95 / 83.95	4,966.50 / 5,876.50			-		
84		Helmet Beanies	Cobblestone CL012	4.90	411.60			-		3.30	277.20			-		
					-			-			-			-		
		TROY HIGH CROSS COUNTRY			-			-			-			-		
5		1/4" Pyramid Spikes, 100 ct.	Blazer 100/bag	10.00	50.00			-		6.30	31.50	BSN 1/4" Pyramid AASPKP14	6.97	34.85		
5		1/8" Pyramid Spikes, 100 ct.	Blazer 100/bag	10.00	50.00			-		6.20	31.00	BSN 1/8" Pyramid AASPKP183	6.61	33.05		
5		3/8" Pyramid Spikes, 100 ct.	Blazer 100/bag	10.00	50.00			-		7.30	36.50			-		
5		1/2" Pyramid Spikes, 100 ct.	Blazer 100/bag	10.00	50.00			-		7.90	39.50			-		

Troy School District																
2010/11 Fall Athletic Equipment																
Bid 9665																
Qty	Unit	Description	Service Sports			Signature Sports			ForsPorts			BSN Sports				
			Alt	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total		
5		5/8" Pyramid Spikes, 100 ct.	Blazer 100/bag	10.00	50.00			-		8.00	40.00			-		
					-			-			-			-		
		TROY HIGH VOLLEYBALL			-			-			-			-		
12		Baden Official Game Ball			-			-		49.95	599.40			-		
					-			-			-			-		
		BAKER FOOTBALL			-			-			-			-		
36		Helmet Covers	Cobblestone CL102	4.90	176.40			3.95	142.20		3.30	118.80				-
12		Belts		1.00	12.00			0.80	9.60		0.99	11.88	Adams 1"x60" FBBLT1WH	0.68	8.16	
					-			-			-			-		
		BAKER BOYS BASKETBALL			-			-			-			-		
2		Bid Red Scorebooks, 20 player		8.00	16.00			-			-			-		
6		TF-1000 Spalding Basketballs		40.00	240.00			-			37.00	222.00	BS-LBTF1KPRM TF-1000 Spalding ZK Pro	37.98	227.88	
					-			-			-			-		
		LARSON FOOTBALL			-			-			-			-		
48		Helmet Beanies	Martin HC-1	4.00	192.00			3.95	189.60		3.30	158.40	BSN BS-1071948 90% cotton 10% lycra price/doz	30.96	123.84	
20		Shoulder Pads	Rawlings/pair	60.00	1,200.00	CP36L Rawlings		49.95	999.00	CP36	49.95	999.00				-
60		Girdle Pads	Set of 3	8.00	480.00	FGP Rawlings		14.95	897.00		6.00	360.00				-
30		Belts		1.00	30.00			-			0.99	29.70	Adams 1"x60" BS-FBBLT1WH	0.68	20.40	

Troy School District																
2010/11 Fall Athletic Equipment																
Bid 9665																
Qty	Unit	Description	Service Sports			Signature Sports			ForsPorts			BSN Sports				
			Alt	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total		
					-			-			-			-		
		SMITH FOOTBALL			-			-			-			-		
12		Football Girdle w/pads	Rawlings FGP	16.90	202.80	FGP Rawlings	14.95	179.40	Rawlings FGP	14.00	168.00			-		
6		Composite Footballs		24.00	144.00	ST5CYB	13.75	82.50		20.50	123.00	Macgregor Composite BS-1227680 Youth size	7.98	47.88		
					-			-			-			-		
		SMITH MIDDLE SCHOOL			-			-			-			-		
1		Slipp Nott Traction Mat Sheets	set	45.00	45.00			-			-	BS-1187335 replacement sheets 15"x18"	79.98	79.98		

Troy School District										
2010/11 Fall Athletic Equipment										
Bid 9665										
					Aluminum Athletic Equip.					
Qty	Unit	Description			Unit Cost	Total				
		ATHENS FOOTBALL								
24	ea	Riddell Speed Helmets			-					<i>Coast to Coast Sports: No Response</i>
12		Riddell CLS10i Shoulder Pads			-					<i>Flaghouse: No Response</i>
18		Riddell CLS80i Riddell Shoulder Pads			-					<i>M-F Athletic Co.: No Response</i>
					-					<i>Tri-County Custom Sports: No Response</i>
		ATHENS BOYS SOCCER			-					
1	case	Clear Mat Tape (12 rolls)			-					
3	ea	Cramer Soccer Scorebooks			-					
6	ea	Brine #5 Championship Balls			-					
1	ea	Dry Erase/Magnetic Coaches Planner			-					
4	ea	Sand Bags			-					
60	ea	Large Disc Cones			1.95	117.00				
					-					
		ATHENS BOYS WATER POLO			-					
10		KAP 7 Water Polo Balls			-					
2		Mesh Ball Bag			-					
4		KAP 7 Weight Belts			-					
8		Speedo Swimmers Backpack			-					
					-					
		TROY HIGH FOOTBALL			-					
48	ea	Rawlings Leather Football			-					

Troy School District									
2010/11 Fall Athletic Equipment									
Bid 9665									
					Aluminum Athletic Equip.				
Qty	Unit	Description			Unit Cost	Total			
15	doz	Mouth Guards w/stems				-			
4	doz	Riddell Chin Straps				-			
16		Nylon Mesh Bags				-			
1		Revolution Accessory Kit				-			
75	pair	Colt Head Helmet Decals				-			
75		Red Helmet Stripes				-			
2	sheet	White Helmet Decals				-			
2	sheet	Skull/Crossbones Helmet Decals				-			
2	sheet	Brown/Black Football Decals				-			
36		Rawlings Varsity Knee Pads				-			
24		Black Adams Wrist Coaches				-			
18		ZBANG3 Rawlings 3 pc. Girdle				-			
18		ZBAND4 Rawlings 4 pc. Shirt				-			
70	ea	PJTEC477 Rawlings Black Jersey				-			
84		Helmet Beanies				-			
						-			
		TROY HIGH CROSS COUNTRY				-			
5		1/4" Pyramid Spikes, 100 ct.			7.00	35.00			
5		1/8" Pyramid Spikes, 100 ct.			7.00	35.00			
5		3/8" Pyramid Spikes, 100 ct.			7.00	35.00			
5		1/2" Pyramid Spikes, 100 ct.			8.00	40.00			

Troy School District												
2010/11 Fall Athletic Equipment												
Bid 9665												
					Aluminum Athletic Equip.							
Qty	Unit	Description			Unit Cost	Total						
5		5/8" Pyramid Spikes, 100 ct.			9.00	45.00						
						-						
		TROY HIGH VOLLEYBALL				-						
12		Baden Official Game Ball				-						
						-						
		BAKER FOOTBALL				-						
36		Helmet Covers				-						
12		Belts				-						
						-						
		BAKER BOYS BASKETBALL				-						
2		Bid Red Scorebooks, 20 player				-						
6		TF-1000 Spalding Basketballs				-						
						-						
		LARSON FOOTBALL				-						
48		Helmet Beanies				-						
20		Shoulder Pads				-						
60		Girdle Pads				-						
30		Belts				-						

Troy School District									
2010/11 Fall Athletic Equipment									
Bid 9665									
						Aluminum Athletic Equip.			
<u>Qty</u>	<u>Unit</u>	<u>Description</u>				<u>Unit Cost</u>	<u>Total</u>		
							-		
		SMITH FOOTBALL					-		
12		Football Girdle w/pads					-		
6		Composite Footballs					-		
							-		
		SMITH MIDDLE SCHOOL					-		
1		Slipp Nott Traction Mat Sheets					-		